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Credit Based IV Semester B.A. (HRD) Degree Examination, April/May 2014
(Common to all Batches)
FINANCIAL MANAGEMENT

BEITOAR ATTTR
Time : 3 Hours Max. Marks : 100

Note : A single answer booklet containing 40 pages will be issued.
No additional sheets will be issued.

SECTION-A
TN—- D
(15 marks each)

I. Answer the following : (15x3=45)
BN ZIrient L300
1) Whatis financial management ? Explain the major financial decisions.
DEFTOR 20:39‘&3’2%0635& TSTRRR0. BeTAR AGRF SR BRI TNTRI 0RO
- OR/eg=»
What is cash management ? Explain the motives for holding cash.
BN ASF B 0BT ? INTBSY BRODTIE LUTIETNF), DBORD.

5 2) Proforma cost sheet of a company provides the following details. ‘
20030 BOTIOD 533:, ﬁg@ B3 NS &)aioi:ﬁeddgt QeBBT.

Elements of cost Cost/unit )
: (B2 0DeEFR 3 (SR.)
Raw material (823%5@ 140
Direct labour (329) 120
Overhead (aﬁxtjdzi) 100
Total cost per unit (Z3 CREFS 2t ) 360
Profit (<2%) 40
Selling price (I%00t3 3) 400

P.T.O.



The following particulars are available :
3 NS RN VPR3 :
a) The proposed level of activity is 15000 units.
QTS ZWT 15000 R/,
b) Minimum desired cash balance X 20,000.
YRIET BF Bt Sn 6 S, 20,000.
¢) Raw materials are expected to remain in stores for 2 months.
RTINS B39 udz’g QBT 930 2 Son.
d) Material in process 1/2 month.
TR3cHOYToE R0 1/2 Sonsb.
e) Finished goods in stock for one month.
Put(ﬁpriraozs BRINY FeDTH 20T Sons.
f) Credit allowed by suppliers one month.
FRONT) VERT OTI IR L.0T0 S0Me.
g) Credit alloWed to customers two months.

Me,EE0N QERT MOT RH 2 Sonw.

Prepare statement showing estimation of working capital requirement.

gSo0s wbdmeﬁd&g{ 0TI B BRRIT 7, 663 TB00L3R 3C370RD.
OR/eg

Explain the sources that satisfy the short term requirements of funds of a

firm.
0T 0T FRR B[RO SabiTlewas) TP RS BEOTIAT WURONTR), Q[OX0.
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3. Ifkplain the factors influencing the working capital requirements of a firm.
BR300 2IOTOVI, VG ORI 0BRI) DFORD.

OR/eagse

The following details are available relating to a project.
P .j'd ﬁowoqﬁa’&gd QTN B3 FENT0ST.

Cost of the project (eﬁ@ﬁﬁ‘j\f dzg’) : ¥1,20,000
Life of the project (ps"s RemoIQ) : S years

Year Cash inflows PV of Re.1at 10%
1 30,000 0.909
2 40,000 0.826
3 44,000 0.751
4 50,000 0.683
5 56,000 0.621

Company follows straight line method of depreciation.
FoTRCID ﬂgew’ g B0 ﬁcé%abdg{ Sovatenveiat
Compute the following :
83 BINTINIR) APFOR0:
a) Pay back period
Be T SO
b) Average rate of return
DR0eeT Tets® e L3 F
c) NPV at 10%
27 ) 10%
d) Profitability index at 10%
SPE 208 10%



HRDHRC 251/HRDHRC 255 | 0 R O A O
SECTION-B
Fn—-
(5 marks each)
Il. Answer any six questions: (5%6=30)
GBRRTTTR & ggm;g U300

1) What is wealth maximisation ? Explain its benefits.
B SRIHesS 0TBed ? STT LUTOSRENNFR), DWORD.

2) Explain the capital budgeting process.
TR 2xededonTs By o30oD), DTORD.

3) What are the costs and benefits of extending credit ?
emcgp QRO ROLOGTEI0S ﬁ%ﬁ% TR [3RERINTO R ?
4) Explain preference shares and debentures as the source of long term finance.

BepF STO0D BewAR TRURTT JTOT Rerizd RoB) RuordT ) DSOLO.

5) Explain the features of appropriate capital structure.
BT B WoBzY Te3J0D oﬁgaﬁvﬁo odRR)R) ?

6) Calculate financial leverage, operating leverage and combined leverage from

the following :
I AR, eerson Tone Ford s, OFTenI) BOBIROWD :

Sales + 500 units at ¥ 100 per unit
\Wplent . 500 cdeRex, T100 T o3t
Variable cost - ¥ 50 per unit
983 3523 : T 50T conedern
23 3
Fixed cost - 10,000
QFo3 ﬁai : 10,000
Interest : - $5,000

u@é - 5,000
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7) From the following capital structure of a company calculate weighted average

cost of capital.
3980% oTRCD WOBIFE TBF0W0T Fe® dTTews® ToAT, ©F° sasa:&w‘es%
BoBIGROWD.
Sources Amount  After tax cost

®) of capital
Sorond R edetuomER ks
Equity shares (g3 Re3on) 2,50,000 17%
Preference shares (&50° Zedonsd)  1,50,000 15%
Retained eamings (4093 <o) 40,000 16%
Debentures (m©=3) 60,000 12%

8) From the following calculate EOQ.
r 33 39N RCNPo EOQ 3020830200,
Order sizes (in units) (30& @’abasa) : 12,000 6,000 3,000 1,000
Annual consumption (Zo&F 32e8) 12000 units
Ordering cost (X050 3%3) 3 ¥ 50/order
Carrying cost (5,007 %) 3 T 5/unit
= § SECTION-C
Pn—- 2
(3 marks each)
Ill. Answer any five questions: (3x5=15)

0IRR)TOTTR 2T @%ﬁ%ﬁa‘% SVUBORD:
1) State the objectives for holding inventory.
AOB) TR &rﬁﬁg{ BRoDTT md@eeﬁﬁeﬁa’% EP20.

2) Write a note on operating cycle.
T20300F 230w LIBT3 2T 509 WOCWO.
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3) What are the different concepts of cost of capital ?
WORIET ﬁzg’s ATARN A waégaiﬁd) aIRR)R) ?

4) Explain the relative importance between financial management and human
resource management.
BIBA AR B W) TREE ROTRRY R BB SRS ROz da&%ﬁdgt 2.
5) State the advantages of bank credit.
2,088 MOT ©30BRUBNT, 3P0

6) A company issued a 10% debenture for% 15,00,000 at par. The company is
in the 40% tax bracket. Find out the cost of debt after tax.
Fo303n de. 15,00,000 Be33 10% w@@ddd muﬁgda&a TR0 RRRT.
63,7 Bee 40%. 10,7 ©$F030T R OB T ) BOREBOD.

7) Write a short note on mutual funds.
TORT QD Wil £30£9 29TC200.

SECTION-D
ATn- 8
(1 mark each)

IV. Answer all the questions : (1x10=10)
B3 ESNS AT agegtri@ﬁ SivctebtoR
1) What are mutually exclusive projects ?
R ROe oo el oTTeRO ?
2) What is capital structure ?

0BT 0233 20T ?

3) What is safety stock ?
0850 TR0 QOB ?

4) Whatis leverage ?
OBezs® 0BT ?
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.

5) What s net present value ?
S FRotr* 0, 20BSe ?
6) What are credit terms ? Shri DMharmage
VBT L3357 Frish ol ?
7) Whatis permanent working capital ?
33 BF00T 2RS0B3 ?
8) What do you mean by time value of money ?
oy W0, 7 TV D0TTed ?
9) What are retained earnings ?

Oé%é’btsf BTN 0TTe) ?

10) Expand EBIT.
EBIT 25020.




